SKH St. Simon’s Lui Ming Choi Secondary School
Form 3 Mathematics
More about Factorization of Polynomials
Summer Homework Worksheet

Name: Class: ( ) Date: Mark:

1. Factorize the following polynomials

(@) x*>—36 (d) (2a+ b)* - (a - b)?
(b) p*-25¢° (e) 108 - 3a?
(c) (k—b)Y-49 ) 9—m?>—3k—km

2. Factorize the following polynomials
(@ »y*-8y+16 (d) —45x%+ 60xy — 20)?
(b) 49x* + 14x + 1 (&) *(x+4)>-10(x +4) + 25
(c) 16m* — 8mn + n?



(@) Factorize * + 14rs + 495>
(b) *Hence, factorize 7% + 14rs + 49s° — 81

4. Factorize the following polynomials

(@) x*+10x+21 (&) x*+12xy+32)°
(b) x*—12x+20 (H 8x*—18x-5
(c) x*+3x-28 (@) -15x*+24—18x

(d) 36— 5x—x? (h) 5x*+29xy — 6)?



(@) Factorize the following expressions.
i. 5y? +6y+1
ii. 15y? -7y -2
(b) *Hence factorize (40y* + 48y +8) — (15y° — 7y* —2y).

6. Factorize
(a) 216/ +1
(b) o -125p°
(c) 512x°—125)°



7. Factorize
(a) 432+ 2x°
(b) 24x*-8lx)’

8. *Factorize

1
a) 8a’+ —
@ 8a 64

(b) (Bx+7) -8



SKH St. Simon’s Lui Ming Choi Secondary School
Form 3 Mathematics Holiday Assignment
Chapter 2 Laws of Indices

Name: Class: ( ) Date: Mark:

1. Find the values of the following expressions and give the answers in integers or
fractions.

1\ 1)°
@) (7—3j x 373 (b) —472x(-5)7? (c) [Ej

2. Simplify the following expressions (where x, y # 0) and express the answers with

positive indices.

(a) (x—3)5 (d) M

0) 229 v
© (Briy o
© (— ]

-3



Express each of the following numbers in scientific notation.
(@ 9480000 000 (b) 0.000 026 1

Round off the following numbers to 3 significant figures and express the results in
scientific notation.
(@ 141592653 (b) 0.000 375 105

Express the following numbers as integers or decimals.
(@) 8.4x10 (b) —6.18 x 107 (c) 2.08x10°*

*Without using a calculator, evaluate the following expressions and express the
answers in scientific notation.

(@ 24000 000 000 + 8 000 000 000 (b) 0.000 000 16 — 0.000 000 043
() (3.1 x1072)x(5x 10 (d) (9x10%) +(4.5%x1073)



7.  Consider the denary number 20 470.
(@) Write down the place value of each digit in the number.

(b) Hence, express 20 470 in the expanded form.
(a)

Digit 2 0 4

Place value

8. Represent the expression 2°+ 2* + 23 + 1 as a binary number.

9. Convert the following numbers into denary numbers.
(a) 110101 (b) 1000011

10. Convert 4119 into a binary number.



11. Evaluate 43 x 99,

A. 0
B. L
64
c. 2
64
D. 576
... 2(ab)”®
12. Simplify ;3—b_)7.
2
A D _
32a
2
L
32b
2b?
C =
2b?
D
3.5\*
13, Simplify(mn_? j .
A. mn’
le
B- F
n22
© e
n28
s

14. Which of the following numbers are in scientific notation?
I.  -0.051x 10"
IL. 6x10*
. 7.332x 107

A. TandII only
B. [Iand Il only
C. [IIand Il only
D. I, 1l and III




15. 5x27+18x24-24+4=
A. 100101002

B. 10100101002
C. 1110010100

D. 11101101002

16. Which of the following numbers has the smallest value?

A. 1010010
B. 1234
C. 11110010100,

D. 11001011011>

/[ Bonus Points J

17. How many zeros are there in the value of the expression 5711 x 8333 x 253339
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1. KNPSRS AN B HIEEEE - (AFRE - BFREEE I A8ET )
(a) A(4,-5),B(13,7) (b) A(2,-7), B(-3,4)

2. OKRIETIUER ABCD KIS - (BFRAEEE =L FRET )

y
T aq, 3)

/| ,

B(-3, -1) o ”
D(3, -2)

C(-2,-4)




3. *ES APOR YIRS P(-5,2) ~ 02, 1) F R(-2,-2) - kil POR RS EfA=Fof

4. Imi%ﬂé PQRS EI/JIEIJJ‘//E“] P(—6, 9) N Q(2, 9) ~ R(S’ 0) %D S(—6, _7) o
(a) KUUET PORS EIBHIREE -
(b) KUY PORS & $HLSIAIE -



5. M E(9, -3) T F(k, 2k) VEEEZRIER R -5 > K kY -

6. EXIP(-3,-8)~0(1,4) ~ R(3, 10) F1 .89, k) VUHL -
(a) SKE& P~ QF1R =HBEHAE -
(b) E P~ QRS =EEFAE K AkAVE -



7. RRSRAEYE E(—4, —18) Fll F(6, —3) WiBGAY B 428 [ 51| & AT AT BEAAE -
(a) xHf
(b) il



8. EAIA(L2)~ B(4,4)~ C(5,-1) M1 D, 1) PUEL » >K&& 4B // CD -

9. MUY PORS WIEHE:E P(-6, 8) ~ O(6, 2) ~ R(4, —4) Fl S(=8, 2) ° 3K&& PORS /= TIUES -

10. BEH1A(5,3) ~ B(-3,-1) ~ C(2,4) #1 D(h, h) VU%L - 25 AB// CD > 3K h HY{H -



11. **@Eth > AD 1 CD » H BCD S-F4%
y

(@) K CDHRER - A A(h, 4)
(b) KAFIkHIE - "\
DG, K
A6 _~C3,1) R
B(-3,-2)

12. 35 RJE E(-4, =7) FI F(=6, ~)AY3E > 3K R AYAAHE -



13. B A2 -18) ~ P(—4,—-6) f1B(3h -1, k) =%h - 7% APB ZEH4%H AP:PB=1:1>kK h Fl1 k&Y
g -

14. **ER1AQ2, a —1) M1 B(7, 13) ik < 35 P(a, b)LA2: 3HILLALEGERR 4B 3 RWHS ST > 3K P HI4L

-

15. **ELA1A(-8, 4) f1 B(3, 12) Rikh - %5 P(h, 9) 26 AB LAY —%h - K AP:PB -



